

## City of Pembroke Pines

## Procurement

Mark Gomes, Procurement Director 601 City Center Way, Pembroke Pines, FL 33025

## **EVALUATION TABULATION**

IFB No. TS-25-08 Adobe Renewals

RESPONSE DEADLINE: April 29, 2025 at 2:00 pm Report Generated: Wednesday, May 28, 2025

## **SELECTED VENDOR TOTALS**

Vendor	Total
Arif International Corporation DBA Numeriksoft	\$61,682.00
Coquina Labs Inc.	\$61,688.80
vCloud Tech Inc	\$61,973.40
Pawol Tafya, LLC	\$61,989.996
TommyTQL LLC	\$62,000.00
Questivity	\$62,229.60
vPrime Tech Inc	\$62,378.40
Software Information Resource Corp	\$62,449.00
EIDIM Group, Inc. dba EIDIM AV Technology	\$62,573.20
Hypertec USA Inc.	\$62,946.80

Vendor	Total
MarsBear Tech	\$63,189.40
ENGAGE SYSTEMS LLC / HUSTOFT	\$63,540.00
GHA Technologies, Inc	\$63,595.20
Milliard Tek	\$63,667.20
Quality Tech Solutions, LLC	\$63,900.00
Synex Corporation	\$64,094.80
Kambrian Corporation	\$64,159.20
Sai Infotek Inc	\$64,774.60
DHE Computer Systems	\$65,140.00
Agilant Solutions, Inc.	\$66,200.00
Howard Industries, Inc.	\$67,860.00
MHP Solutions LLC	\$111,000.00

			Arif International Corporation DBA		
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$93.34	\$28,002.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$842.00	\$33,680.00
	Total				\$61,682.00

				Coquina Labs Inc.	
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$93.36	\$28,008.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$842.02	\$33,680.80
	Total				\$61,688.80

			vCloud Tech Inc		
<b>Line Item</b>	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$93.79	\$28,137.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$845.91	\$33,836.40
	Total				\$61,973.40

			Pawol Tafya, LLC		
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$93.814	\$28,144.20
2	Creative Cloud – All Apps (per user 12	40	Each	\$846.1449	\$33,845.796
	Total				\$61,989.996

			TommyTQL LLC		
<b>Line Item</b>	Description	Quantity	Unit of Measure	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$94.00	\$28,200.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$845.00	\$33,800.00
	Total				\$62,000.00

				Questivity	
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$95.16	\$28,548.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$842.04	\$33,681.60
	Total				\$62,229.60

			vPrime Tech Inc		
<b>Line Item</b>	Description	Quantity	Unit of Measure	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$94.40	\$28,320.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$851.46	\$34,058.40
	Total				\$62,378.40

			Software Information Resource Corp		
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$94.51	\$28,353.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$852.40	\$34,096.00
	Total				\$62,449.00

			EIDIM Group, Inc. dba EIDIM AV		
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$94.70	\$28,410.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$854.08	\$34,163.20
	Total				\$62,573.20

			Hypertec USA Inc.		
<b>Line Item</b>	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$95.26	\$28,578.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$859.22	\$34,368.80
	Total				\$62,946.80

				MarsBear Tech	
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$95.63	\$28,689.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$862.51	\$34,500.40
	Total				\$63,189.40

				ENGAGE SYSTEMS LLC / HUSTOFT	
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$96.16	\$28,848.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$867.30	\$34,692.00
	Total				\$63,540.00

			GHA Technologies, Inc		
<b>Line Item</b>	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$96.24	\$28,872.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$868.08	\$34,723.20
	Total				\$63,595.20

			Milliard Tek		
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$96.56	\$28,968.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$867.48	\$34,699.20
	Total				\$63,667.20

			Quality Tech Solutions, LLC		
Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$97.00	\$29,100.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$870.00	\$34,800.00
	Total				\$63,900.00

			Synex Corporation		
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$99.18	\$29,754.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$858.52	\$34,340.80
	Total				\$64,094.80

			Kambrian Corporation		
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$97.10	\$29,130.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$875.73	\$35,029.20
	Total				\$64,159.20

			Sai Infotek Inc		
<b>Line Item</b>	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$98.03	\$29,409.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$884.14	\$35,365.60
	Total				\$64,774.60

			DHE Computer Systems		
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$99.00	\$29,700.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$886.00	\$35,440.00
	Total				\$65,140.00

			Agilant Solutions, Inc.		
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$102.00	\$30,600.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$890.00	\$35,600.00
	Total				\$66,200.00

			Howard Industries, Inc.		
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$103.00	\$30,900.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$924.00	\$36,960.00
	Total				\$67,860.00

			MHP Solutions LLC		
Line Item	Description	Quantity	<b>Unit of Measure</b>	Unit Cost	Total
1	Acrobat Pro DC (per user 12 mos)	300	Each	\$250.00	\$75,000.00
2	Creative Cloud – All Apps (per user 12	40	Each	\$900.00	\$36,000.00
	Total				\$111,000.00

Question	Arif International Corporation DBA Numeriksoft	Coquina Labs Inc.	vCloud Tech Inc	Pawol Tafya, LLC	TommyTQL LLC	Questivity
CONFIRMATION TO BIND						
I certify that I have read, understood and agree to the terms in this solicitation, and that I am authorized to submit this response on behalf of my company.	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
PROJECT DOCUMENTS						
PROPOSERS BACKGROUND INFORMATION FORM	Included	Included	Included	Included	Included	Included
STANDARD DOCUMENTS						
NON-COLLUSIVE AFFIDAVIT	Included	Included	Included	Included	Included	Included
SWORN STATEMENT ON PUBLIC ENTITY CRIMES FORM	Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.		A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.
EQUAL BENEFITS CERTIFICATION FORM	Contractor currently complies	Contractor currently complies	Contractor currently complies	Contractor currently complies	Contractor currently complies	Contractor currently complies
VENDOR DRUG FREE WORKPLACE CERTIFICATION	Complies Fully	Complies Fully	Complies Fully	Complies Fully	Complies Fully	Complies Fully
SCRUTINIZED COMPANY CERTIFICATION	Included	Included	Included	Included	Included	Included
E-VERIFY SYSTEM CERTIFICATION	Included	Included	Included	Included	Included	Included
HUMAN TRAFFICKING AFFIDAVIT	Included	Included	Included	Included	Included	Included
VENDOR INFORMATION FORM	Included	Included	Included	Included	Included	Included
FORM W-9 (REVISED MARCH 2024)	Included	Included	Included	Included	Included	Included
OPTIONAL DOCUMENTATION TRADE SECRETS						
FINANCIAL STATEMENTS						
ADDITIONAL INFORMATION		SunBiz Proposal	LOA Quote Renewal Proposal	Quote LGA Terms		LGA Terms Adobe Partner Certificate DSGSSB Certificate
PROFESSIONAL LICENSES						
VENDOR CLASSIFICATION						
Is your firm a Local Pembroke Pines Vendor (LPPV) and Local Broward County Vendor (LBCV)?	No	No	No	Yes	No	No
Please indicate your Local Vendor Status	N/A	N/A	N/A	Local Broward County Vendor (LBCV)	N/A	N/A
Local Vendor Preference Certification	N/A	N/A	N/A	Meet Requirement	N/A	N/A
Local Business Tax Receipts	N/A	N/A	N/A	LBTR - Broward - Expired	N/A	N/A
Is your firm a Veteran Owned Small Business (VOSB)?	No	No	No	Yes	No	No
Determination Letter from the United States Department of Veteran Affairs Center Is your firm a Minority-Owned Business	N/A	N/A	N/A	VOSB Certification	N/A	N/A
Enterprise (MBE)?  Please indicate the classification of your	Yes	No	No	Yes	No	Yes
Minority-Owned Business Enterprise (MBE)	Asian-American MBE	N/A	N/A	African-American MBE	N/A	Other option not listed above
MBE Certification Documentation	MBE Certificate	N/A	N/A	MBE Certification	N/A	MBE Certificate
Is your firm a Woman-Owned Business Enterprise (WBE)?	No	No	No	No	No	No
WMBE Certification Documentation	N/A	N/A	N/A	N/A	N/A	N/A
Is your firm a HubZone Business / Labor Surplus Area Firm?	No	No	No	No	No	No
HubZone Business / Labor Surplus Area Firm Certification Documentation	N/A	N/A	N/A	N/A	N/A	N/A
Is your firm a Broward County Small Business Enterprise (SBE)?	No	No	No	No	No	No
SBE Cerification Documentation	SBE Certificate	N/A	N/A	N/A	N/A	N/A
Is your firm a Broward County Business Enterprise (CBE)?	No	No	No	No	No	No
CBE Certification Documentation	N/A	N/A	N/A	N/A	N/A	N/A
Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?	No	No	No	No	No	No
DBE Certification Documentation	N/A	N/A	N/A	N/A	N/A	N/A
Does your firm have a Vendor Classification that was not listed above?	Yes	No	No	No	No	No
Other Vendor Classification Certification Documentation	N/A	N/A	N/A	N/A	N/A	N/A

Question	vPrime Tech Inc	Software Information Resource Corp	EIDIM Group, Inc. dba EIDIM AV Technology	Hypertec USA Inc.	MarsBear Tech	ENGAGE SYSTEMS LLC / HUSTOFT
CONFIRMATION TO BIND  I certify that I have read, understood and agree to the terms in this solicitation, and that I am authorized to submit this response on behalf of my company.  PROJECT DOCUMENTS	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
PROPOSERS BACKGROUND INFORMATION FORM	Not Included	Included	Included	Included	Included	Included
STANDARD DOCUMENTS						
NON-COLLUSIVE AFFIDAVIT  SWORN STATEMENT ON PUBLIC ENTITY  CRIMES FORM	Included  A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	and convicted of a public entity crime subsequent to July 1, 1989.	and convicted of a public entity crime subsequent to July 1, 1989.	and convicted of a public entity crime subsequent to July 1, 1989.	Included  A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.	Included  A) Neither the entity submitting this sworn statement, nor any officers, directors, executives, partners, shareholders, employees, members, or agents who are active in management of the entity, nor any affiliate of the entity have been charged with and convicted of a public entity crime subsequent to July 1, 1989.
EQUAL BENEFITS CERTIFICATION FORM	Contractor currently complies	Contractor currently complies	Contractor currently complies	Contractor currently complies	Contractor currently complies	Contractor currently complies
VENDOR DRUG FREE WORKPLACE CERTIFICATION	Complies Fully	Complies Fully	Complies Fully	Complies Fully	Complies Fully	Complies Fully
SCRUTINIZED COMPANY CERTIFICATION	Included	Included	Included	Included	Included	Included
E-VERIFY SYSTEM CERTIFICATION	Included	Included	Included	Included	Included	Included
HUMAN TRAFFICKING AFFIDAVIT	Included	Included	Included	Included	Included	Included
VENDOR INFORMATION FORM FORM W-9 (REVISED MARCH 2024)	Included Included	Included Included	Included Included	Included Included	Included Included	Included Included
OPTIONAL DOCUMENTATION	iliciadea	mcraded	Iliciadea	Included	Included	ilicidaed
TRADE SECRETS						
FINANCIAL STATEMENTS						
ADDITIONAL INFORMATION	Quote Annual Resale Certified reseller Letter	SunBiz		SunBiz Proposal	Quote	
PROFESSIONAL LICENSES						
VENDOR CLASSIFICATION						
Is your firm a Local Pembroke Pines Vendor (LPPV) and Local Broward County Vendor (LBCV)?	No	No	No	No	No	No
Please indicate your Local Vendor Status	N/A	N/A	N/A	N/A	N/A	N/A
Local Vendor Preference Certification	N/A	N/A	N/A	N/A	N/A	N/A
Local Business Tax Receipts	N/A	N/A	N/A	N/A	N/A	N/A
Is your firm a Veteran Owned Small Business (VOSB)? Determination Letter from the United States	No	No	No	No	No	No
Department of Veteran Affairs Center Is your firm a Minority-Owned Business	N/A	N/A	N/A	N/A	N/A	N/A
Enterprise (MBE)?  Please indicate the classification of your	Yes	No	No	No	No	No
Minority-Owned Business Enterprise (MBE)	Asian-American MBE	N/A	N/A	N/A	N/A	N/A
MBE Certification Documentation Is your firm a Woman-Owned Business	MBE Certification	N/A	N/A	N/A	N/A	N/A
Enterprise (WBE)?  WMBE Certification Documentation	No N/A	No N/A	No N/A	No N/A	No N/A	No N/A
Is your firm a HubZone Business / Labor	No No	No No	No No	No No	No No	No No
Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation	N/A	N/A	N/A	N/A	N/A	N/A
Is your firm a Broward County Small Business Enterprise (SBE)?	No	No	Yes	No	No	No
SBE Cerification Documentation	N/A	N/A	SBE Certificate	N/A	N/A	N/A
Is your firm a Broward County Business Enterprise (CBE)?	No	No	No	No	No	No
CBE Certification Documentation	N/A	N/A	N/A	N/A	N/A	N/A
Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?	No	No	No	No	No	No
DBE Certification Documentation	N/A	N/A	N/A	N/A	N/A	N/A
Does your firm have a Vendor Classification that was not listed above?	No No	No	No	No	No	Yes
Other Vendor Classification Certification Documentation	N/A	N/A	N/A	N/A	N/A	SBA Certification

Question	GHA Technologies, Inc	Milliard Tek	Quality Tech Solutions, LLC	Synex Corporation	Kambrian Corporation	Sai Infotek Inc
CONFIRMATION TO BIND						
I certify that I have read, understood and agree to the terms in this solicitation, and						
that I am authorized to submit this response	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed	Confirmed
on behalf of my company.						
PROJECT DOCUMENTS						
PROPOSERS BACKGROUND INFORMATION	Included	Included	Included	Included	Included	Included
FORM	meradea	medaca	melaca	meraca	meraca	medaca
STANDARD DOCUMENTS  NON-COLLUSIVE AFFIDAVIT	Included	Included	Included	Included	Included	Included
HOIF COLLOSIVE ALTIDATI	A) Neither the entity submitting this sworn					
	statement, nor any officers, directors, executives,					
SWORN STATEMENT ON PUBLIC ENTITY	partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,
CRIMES FORM	nor any affiliate of the entity have been charged with	nor any affiliate of the entity have been charged with	nor any affiliate of the entity have been charged with	nor any affiliate of the entity have been charged with	nor any affiliate of the entity have been charged with	nor any affiliate of the entity have been charged with
		and convicted of a public entity crime subsequent to		and convicted of a public entity crime subsequent to	and convicted of a public entity crime subsequent to	and convicted of a public entity crime subsequent to
EQUAL BENEFITS CERTIFICATION FORM	July 1, 1989. Contractor currently complies	July 1, 1989. Contractor currently complies	July 1, 1989. Contractor currently complies	July 1, 1989. Contractor currently complies	July 1, 1989. Contractor currently complies	July 1, 1989.  Contractor currently complies
VENDOR DRUG FREE WORKPLACE	Does not meet Requirements	Complies Fully			Complies Fully	
CERTIFICATION	· ·	· · ·	Complies Fully	Complies Fully	<u> </u>	Complies Fully
SCRUTINIZED COMPANY CERTIFICATION	Included	Included	Included	Included	Included	Included
E-VERIFY SYSTEM CERTIFICATION HUMAN TRAFFICKING AFFIDAVIT	Included Included	Included Included	Included Included	Included Included	Included Not Included	Included Included
VENDOR INFORMATION FORM	Included	Included	Included	Included	Included	Included
FORM W-9 (REVISED MARCH 2024)	Included	Included	Included	Included	Included	Included
OPTIONAL DOCUMENTATION						
TRADE SECRETS						
FINANCIAL STATEMENTS						
					Quote	
ADDITIONAL INFORMATION					Proposal	Quote
					·	
PROFESSIONAL LICENSES						
VENDOR CLASSIFICATION  Is your firm a Local Pembroke Pines Vendor						
(LPPV) and Local Broward County Vendor	No	No	No	Yes	No	No
(LBCV)?						
Please indicate your Local Vendor Status	N/A	N/A	N/A	Local Pembroke Pines Vendor (LPPV)	N/A	N/A
Local Vendor Preference Certification	N/A	N/A	N/A	Meet Requirement	N/A	N/A
Local Business Tax Receipts Is your firm a Veteran Owned Small Business	N/A	N/A	N/A	LBTR - Pembroke Pines - 09-30-25	N/A	N/A
(VOSB)?	No	No	Yes	No	No	No
Determination Letter from the United States	N/A	N/A	VOSB Certification	N/A	N/A	N/A
Department of Veteran Affairs Center	19/4	N/A	VOSB CEITIICATION	19/4	19/4	19/4
Is your firm a Minority-Owned Business Enterprise (MBE)?	No	No	No	No	Yes	No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)	N/A	Asian-American MBE	N/A	N/A	Asian-American MBE	N/A
MBE Certification Documentation	N/A		N/A	N/A	MBE Certificate	N/A
Is your firm a Woman-Owned Business Enterprise (WBE)?	No	No	No	No	Yes	No
WMBE Certification Documentation	N/A	N/A	N/A	N/A	WBE Certificate	N/A
Is your firm a HubZone Business / Labor Surplus Area Firm?	No	No	No	No	No	No
HubZone Business / Labor Surplus Area Firm	N/A	N/A	N/A	N/A	N/A	N/A
Certification Documentation  Is your firm a Broward County Small	, No	, No	, No	, No	, No	, No
Business Enterprise (SBE)?						
SBE Cerification Documentation  Is your firm a Broward County Business	N/A	N/A	N/A	N/A	N/A	N/A
Enterprise (CBE)?	No	No	No	No	No	No
CBE Certification Documentation	N/A	N/A	N/A	N/A	N/A	N/A
Is your firm a Broward County	No	No	No	No	No	No
Disadvantaged Business Enterprise (DBE)?  DBE Certification Documentation	N/A	N/A	N/A	N/A	N/A	N/A
Does your firm have a Vendor Classification	No	No	No	No	No	No.
that was not listed above?  Other Vendor Classification Certification	·	-	-	-	-	
Documentation	N/A	N/A	N/A	N/A	N/A	N/A

Question	DHE Computer Systems	Agilant Solutions, Inc.	Howard Industries, Inc.	MHP Solutions LLC
CONFIRMATION TO BIND	· · ·			
I certify that I have read, understood and				
agree to the terms in this solicitation, and				
that I am authorized to submit this response	Confirmed	Confirmed	Confirmed	Confirmed
on behalf of my company.				
PROJECT DOCUMENTS				
PROPOSERS BACKGROUND INFORMATION	Included	Included	Included	Included
FORM STANDARD DOCUMENTS				
NON-COLLUSIVE AFFIDAVIT	Included	Included	Included	Included - Not Signed
NON-COLLOSIVE AFFIDAVII	A) Neither the entity submitting this sworn	A) Neither the entity submitting this sworn	A) Neither the entity submitting this sworn	A) Neither the entity submitting this sworn
	statement, nor any officers, directors, executives,	statement, nor any officers, directors, executives,	statement, nor any officers, directors, executives,	statement, nor any officers, directors, executives,
SWORN STATEMENT ON PUBLIC ENTITY	partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,	partners, shareholders, employees, members, or agents who are active in management of the entity,
CRIMES FORM	nor any affiliate of the entity have been charged with	nor any affiliate of the entity have been charged with		nor any affiliate of the entity have been charged with
	and convicted of a public entity crime subsequent to	and convicted of a public entity crime subsequent to	and convicted of a public entity crime subsequent to	and convicted of a public entity crime subsequent to
EQUAL BENEFITS CERTIFICATION FORM	July 1, 1989. Contractor currently complies	July 1, 1989. Contractor currently complies	July 1, 1989. Contractor currently complies	July 1, 1989. Contractor currently complies
VENDOR DRUG FREE WORKPLACE				
CERTIFICATION	Complies Fully	Complies Fully	Complies Fully	Complies Fully
SCRUTINIZED COMPANY CERTIFICATION	Included	Included	Included	Included
E-VERIFY SYSTEM CERTIFICATION	Included	Included	Included	Included
HUMAN TRAFFICKING AFFIDAVIT	Included	Included	Included	Included
VENDOR INFORMATION FORM	Included	Included	Included	Included - Not Filled
FORM W-9 (REVISED MARCH 2024)	Included	Included	Included	Included
OPTIONAL DOCUMENTATION TRADE SECRETS				
FINANCIAL STATEMENTS				
THANCIAL STATEMENTS				
ADDITIONAL INFORMATION	Articles of Organization	6 - 175 - 1 - 151 - 151	General Prequalification	
ADDITIONAL INFORMATION	LBTR - Colorado - 09-30-25	Certificate of Liability	Proposal	
PROFESSIONAL LICENSES				
VENDOR CLASSIFICATION				
Is your firm a Local Pembroke Pines Vendor (LPPV) and Local Broward County Vendor	No	No	No	No
(LBCV)?	NO	No	NO	No
Please indicate your Local Vendor Status	N/A	N/A	N/A	N/A
Local Vendor Preference Certification	N/A	N/A	N/A	N/A
Local Business Tax Receipts	N/A	N/A	N/A	N/A
Is your firm a Veteran Owned Small Business	No	No	No	No
(VOSB)?  Determination Letter from the United States				
Department of Veteran Affairs Center	N/A	N/A		
Is your firm a Minority-Owned Business		·	N/A	N/A
Enterprise (MBE)?	No	Yes	N/A No	N/A No
Please indicate the classification of your		Yes	No	No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE)	N/A	Yes Asian-American MBE	No N/A	No N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation		Yes	No	No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business	N/A	Yes Asian-American MBE	No N/A	No N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?	N/A N/A No	Yes Asian-American MBE MBE Certificate No	No N/A N/A No	No N/A N/A No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business	N/A N/A No N/A	Yes Asian-American MBE MBE Certificate No N/A	No N/A N/A No N/A	No N/A N/A No N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?	N/A N/A No N/A	Yes Asian-American MBE MBE Certificate No	No N/A N/A No	No N/A N/A No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm?	N/A N/A No N/A No	Yes Asian-American MBE MBE Certificate No N/A No	No N/A N/A No N/A No	No N/A N/A No N/A No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation	N/A N/A No N/A	Yes Asian-American MBE MBE Certificate No N/A	No N/A N/A No N/A	No N/A N/A No N/A
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small	N/A N/A No N/A No	Yes Asian-American MBE MBE Certificate No N/A No	No N/A N/A No N/A No	No N/A N/A No N/A No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?	N/A N/A No N/A No N/A No	Yes  Asian-American MBE  MBE Certificate  No  N/A  No  N/A  NO	No	No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small	N/A N/A NO N/A NO N/A NO N/A NO	Yes  Asian-American MBE  MBE Certificate  No  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No	No N/A N/A No N/A No N/A No N/A No N/A No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Finess Finess (SBE)? SBE Certification Documentation	N/A N/A No N/A No N/A No	Yes  Asian-American MBE  MBE Certificate  No  N/A  No  N/A  NO	No	No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Cerification Documentation Is your firm a Broward County Business Enterprise (SBE)?  CBE Certification Documentation	N/A N/A NO N/A NO N/A NO N/A NO	Yes  Asian-American MBE  MBE Certificate  No  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No	No N/A N/A No N/A No N/A No N/A No N/A No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)? SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)? CBE Certification Documentation Is your firm a Broward County Business	N/A N/A NO N/A NO N/A NO N/A NO N/A NO	Yes  Asian-American MBE  MBE Certificate  No  N/A  No  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)? SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)? CBE Certification Documentation Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?	N/A N/A NO	Yes  Asian-American MBE  MBE Certificate  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No	No  N/A  N/A  No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)? SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)? CBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)? DISadvantaged Business Enterprise (DBE)?	N/A N/A NO	Yes  Asian-American MBE  MBE Certificate  No  N/A  No	No  N/A  N/A  No	No  N/A  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)?  WMBE Certification Documentation Is your firm a Hubzone Business / Labor Surplus Area Firm?  HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)?  SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)?  CBE Certification Documentation Is your firm a Broward County Business Enterprise (DBE)?  DBE Certification Documentation Is your firm a Broward County Disadvantaged Business Enterprise (DBE)?  DBE Certification Documentation D	N/A N/A NO	Yes  Asian-American MBE  MBE Certificate  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No  N/A  No	No  N/A  N/A  No	No N/A N/A No
Please indicate the classification of your Minority-Owned Business Enterprise (MBE) MBE Certification Documentation Is your firm a Woman-Owned Business Enterprise (WBE)? WMBE Certification Documentation Is your firm a HubZone Business / Labor Surplus Area Firm? HubZone Business / Labor Surplus Area Firm Certification Documentation Is your firm a Broward County Small Business Enterprise (SBE)? SBE Certification Documentation Is your firm a Broward County Business Enterprise (CBE)? CBE Certification Documentation Is your firm a Broward County By Surfirm a Broward County Disadvantaged Business Enterprise (DBE)?	N/A N/A NO	Yes  Asian-American MBE  MBE Certificate  No  N/A  No	No  N/A  N/A  No	No  N/A  N/A  No